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They are require to wait - 77379 927 27 2977 TWHR PRI NI
three months; these are the words of Rabi Yehudoh

Overview

The Xn>72 mentions a number of women (a 7r7dYI 7°12W NO1°) that where 17913177301
DOaw '3 ¥ NN 1nnwa), who are required, according to 77 ', to wait three
months before they can marry a X%, in order to distinguish between yI71Iw ¥77
TWITPA to WITRPA ROW VATIW YOI

= PHNNY NY98T AN 229 9INRP 92YNNY NINI NIRY NIVPI IPANT YNIWYUN
It seems that »''2 said this rule, that they are required to wait three months,

even by a minor who is not capable of becoming pregnant -
- 1991 YoN MUVP T TAN O /) 12N M MMIRPIN

Since the Xn»72 states that this ruling applies to those that are older than three
years and one day; the reason for this ruling is because they decreed it by a
minor on account of an adult -

nooIN asks:
= (W) 2,91 97 7N x‘nnm NINT 0N 1299 PNy 99%24Y nup

And the 5'"9 and the n''9 have a difficulty with this ruling of 777 "1 here in this

xn»73, for we learnt in a 802 in YW1 P9 -
= 9N 929 927 DIVIN /) PANNY NN MO 211)\7‘;7 IN MPAN 520 799D N9 NIV 29N

‘Where she was constantly running to her father’s house, etc. or she was a
minor, etc., in all these cases she has to wait three months to remarry, if her

husband died (or divorced her), these are the words of '3, however -
= A9 YON MIVP NN 229 9T KD NN 1919 XYY DIND 9951 N1I17% %39

>''% permits her to become betrothed and married immediately’. This concludes
the Xn>92 in v9 7. It is evident from the Xn>>12 in 72177 that "' in not ;73wp =3
9173 WK, so why in the X072 here does he require 73m27 even by a maup.

mdoIN anticipates a possible solution:
=90 1) N7 NIINIVYNI NHIY2)2 RPIT NI )

And if you will say that only specifically here by a 7122 n99mw2y n9i is there

" If we would allow a minor to marry immediately without waiting three months, we may mistakenly allow an adult
to marry immediately without waiting, and she may be pregnant from before with a 7172 R?W 7yI1IW Y.
* Even though it is impossible that she is pregnant, nevertheless she has to wait, because we are 77173 10X 7I0p 13, etc.
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more reason to be 91 by a 79173 10X mvp (than there in Y217) -
- AVITPA NYY ¥INIVY NYITHA ¥ITIY Y91 1A Phany »1o

In order to distinguish between 7P yamw y97r (with her new husband), and

the mwnTpPa N5W P9I V7 (when she was with the "3), however in y21m7 both the first
husband and the second were both YX7w> °13, therefore we are not that strict —

mooIN rejects this solution:
= 1PN19NY MI*IYT 0L *95y5 DNN Y927 X299 XDT NN PR AT

This answer does not appear to be correct, for according to X239 who explained

there previously the reason for the necessity to wait three months -
- %975 *yN 19 PHN HYN DI AN’ 1NN XY R N1

For it is a decree that if one does not wait, perhaps one will marry his sister
from his father, or will be 23%3» the wife of his brother from his mother’s side

only, etc., these concerns -
= 0NN Y97 1NN U3 N JIYT HRIYS N NIVPA 91912 )0 NN 29V

Are more appropriate to be 21 by a Jewish minor where all these concerns

mentioned there are applicable -
- Spanm IMNN XY NPY IV KD NY9NIVYNY NNV N9 DAN

However, by a naamwny 792w navva it is not applicable that perhaps he will
marry his sister from his father’s side, since her first husband is a 73!

mooIn has an additional question on this proposed idea that by a 121 n71°2 there is more reason to
wait three months than by a Jewish marriage:
= 7Y% 2297 RIDIN NI2D 159 5N HNNYT T
And additionally, X% maintains a logic which is the opposite of the one
Mmoo proposed for 3" -
= (0w13,79 97 0w) PPANR 7T P99 9102 9INRP HNNIY XN
For "Xmw stated in the end of PnR '7 P=o -
= 1I0P HIINIVNI NI NIN DOXWTN /) PHNNY MY 7]519‘1

3 x,am ow.

* y2m1 was married to X% and had a daughter 727, then %> died and 721 married 5m7, and 721 died and “rn
immediately married 1wnw while she was pregnant with s'723X7 son 71371. Everyone assumed that 71117 was s'7¥n® son
so Tun married 1127 who is his sister from the same father j2I1%".

5 ax> was pregnant from 72%7, who died, so she married 11v»w and had 71117 (who is the son of 121%7). She then gave
birth to 71¥%R who is the son of 1wnw. However, everyone assumed that both q1¥%R and 71n were the sons of Nynw.
Later 711 married and died without children, so T1¥%X was 02 the wife of 71r who is 187 PR DWR but not 1°2axn.

% Presumably this means that even if the daughter (for instance of this ) will be 13nn she will not be considered
his sister, since a A7 721w Jup AN TA. See 7w 0.

7 See mooIn there that these 1712 refers to all these woman mentioned in the X,82 Mn2> 7w and the following Xn™92
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That all of them are required to wait three months before they can remarry

except for a n91°3 and a freed slave, who are minors —
= APY) YON NIVP 9T INIY?I N NIVPA NIYN PHNND NI HNIY? NA NIVP DaN

However, a minor Jewish woman who was married is required to wait, so it is

evident that by a ®X=w> n2 mup the 329 were 213 a 773vp on account of a 779173 -
- $71915 52971 NIOIN 1397 A1) XY NNV N1

But by a n91°x and a naamw» they were not 913, which is the opposite from
what 5''1 rules —

mooIn has an additional question:
- 79581 5295 930 YNIWS Na VP NNYYA ININYY 1Y)

And furthermore, according to >X»w, it is understood regarding a minor n2

bR W, he agrees with »''9 that she is required to wait -
- 5095 %395 XYY 71N $395 Y NP N9 NIN

However, regarding a na3 according to whom does >X1w rule; not like '2

71779, and not like S0 ' -
= PNHNNY NI NDITH P2 NIVP P2 NN Y2904

For according to 71731 '3, whether the n71°3 is a minor or whether she is an

adult, she is required to wait, as it states in this xn»"2 -
- 1PNNRNY 19598 NN AT 1IN YD) 2299

And according to 0¥ '3 even an adult N77°3 is not required to wait three months —

Mmoo proposes a solution:
= 1IN 2295 29V NN NIYIIY NINIWA XINT THY P1NT INIY 1151)

However, according to the way that the X 1) establishes this Xn>92 here of a
n that they saw her having relations, it works out properly that YXmw agrees

with 77370 "9 -
- 912 YON NIVP 1IPITNT NN 229 MNP AYYAIY NINIA NPYTT 1905 139890

For we can say that it is only specifically when we saw her (a 71vp) a1 that

on 2,21, which include MW AR MW AR MPIN2 TR DWW AWOW 172 WPW TV IRWID K21 I0IRD’ KD 2WIT IR 92 19
MOMIR AR MRWI IR MIAYR TR (from the 71wn), and from the Xn*92 we have, W %28 n°a% 9% A9177 AW 70
79V2 DN AR 32°90W I A2I0 RO AN IR T2 IR IPT A2V AW R PI0RT N°22 WIAN AY2 7OnW N AYa N°22 oY 12 7w
KW 0IR7 P00 370 1 ,70RD 0027 ,000WTA 3 PARAR 727X 79°7 IR APRY IR NINDOR IR JI0P W TIRT IR TPV 0w R
™n.

¥ The question is more than just a contradiction from 77 "1 (who is stricter by n71°)) on »Xmw (who is stricter by na
5X7w°) but rather a question of logic; where is there more reason to be stricter, by a N1, or by a X2 na.

? See footnote # 7 (towards the end).

195w rules that a 3P N1 is not required to wait, however a 72173 N is required to wait three months.
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7797 'Y maintains that we make the decree by (77y21w) aup (that she needs to

wait) on account of a 772175 -
- YINY N9 NTY NIINY DIIN YaN

However, by that 710> who is not a certain 79w2 (the case of 7X1mw) where we do

not know whether she was 7921, we are not 717 1R 7P M3, and both YR and ™
77N agree that a 73vP nYA need not wait, only a 79173 DAY,

mooIn cites a different version of HXnw:
- Bamins 5291 NIOIN INIMYT 23 5Y 98 Y9 "wp XY POnnT pInK Uy 599

And according to the last version of ®Xmw there in nM»2°, there is no difficulty

at all, even though that »Xy2w maintains the exact opposite of 3''9; nevertheless,

there is no question -
= DI9NNNT DIV IV ) NI ITPONRT NDITH YON NIVP 199907 “own oyvn PNRT 2

Since the reason a 7Y N7 does not have to wait is not because we are [not]
72173 R TR oms, for even a m7a is also permitted to marry immediately,

because she turns herself over to prevent herself from become pregnant, since she plans
on being 7™n» and wants to distinguish between 9109 ¥71 and “w> y1.

mooIn offers a different X0
- 5N91T NP9 79 992 (x,n5 0w Nt oy PHAN 7T P2 91027 PNYY 13229 99N

And the v''1 states that in the end of 1°1X '7T 79 he cited this Xn%992 from here -
- 799 135093 NY 1) RNODINY TAN DI /) MIAD MIPH? N3 19909 N

However, they were not o7 in this Xn°>72 the words TR 219 '3 nuaan nysnd',

and also in the Xnp9In we are not 13 these words -
- PHRNY 19998 PRT AN NIVPA YA 1911 59911 RN Nt 299

And according to this X07, it is resolved, for this Xn>72 is discussing an adult,

however regarding a minor, 7777 ' agrees that she is not required to wait -
- 191197 X922 MNP

' See “Thinking it over’.

12 See X,777 mn2° for a different version of Xmw, where he maintains that a N3 never has to wait (neither a 710p nor
a 12173) because she is 72vynn X5W naoany, for XMW agrees with 01 1. However, a mivp n°oxw», who was divorced,
has to wait three months, 10X a 72173 D98 who was divorced.

13 >"5 maintains that by a 9X1w° N2 we are not 72173 JX 7P M3, and by a N we are 77173 X TP M, and XY
maintains the exact opposite, by a PXw° na we are 72173 1R 710p N3 and by a N3 a 7IvP does not have to wait.

' The %"w1mm amends this to read 171 K97 0w (instead of 10137 2wn).

15 0 xwP1 191 PAAAY M 191 TR AT

1033 9" mm.

"7 This is referring to the question posed in the very beginning of our n921n. See [the text by] footnotes # 1 & 2.

'8 See the ™2 (from 2,21 n2°) cited in footnote (# 2 and) # 7.

4
TosfosInEnglish.com



m>°1x 7"7 '010 R,12 Mand 702

As it states in the Xn3m2 of 11917 -
- 9N 299 INIY H122) AT 2293 191232 THNImY NRWM

So now ®Xmw regarding a n1vs will agree with "' and regarding a 87w n2 he
will agree with »''9 -

- 2pnnnG 79598 PRT NN 239 DTN NIVP NINIT IYINY
And it is possible that by a minor n91%3 (even) »''% may admit that she is not

required to wait, so 7x1mw will be in complete agreement with 2" regarding both a n11 and
a oRW° na -
— 0517 N9MUNY 19991 YIN PHNAY MDY 1919 ININY MIRT ZONNT PINK Y

And according to the last version there, where X% maintains that all of
them are required to wait, except for a n9y3 and a naamwn, even an adult -

- YW NY MIVPT MINT OIWN ZMIta PHRNY D998 NN INIY? N NIVD)
but a minor X2w> n2 is not required to wait after a promiscuous relationship,

since promiscuity by a minor is not common -
= DY) YON NIV M) PNIVIA DaN

However, by marriage we are =713 a 79173 YU mIup -
=AY YON MIVP ITHT NN 295 HNIY? NIy 24’71’ 292 N2 920
So X1mw by a naa agrees with ''9, and by a »Xw> n2 he agree with »'', who
iS TSI YUK 7TIWP WA by PRWI -
- 25‘1’N): 92499 Y017 %29 AN PNIVIA RNYI 9NN 229 91) 1PNIVIA XPITT I%D NYID)
And X maintains that only by marriage is 772175 1R 73up 913 »'"1 (but not by

m1r), and perhaps by marriage, 3''9 will admit to 2'' that we are 77173 10X m0p M3 -
= DY AN NN NONN MY RNT NI INT M2 111N)

However, by nut it is certain that YX»w argues on °0v ' for °"3 permits 79N

7NIDRY even a 173 to marry immediately, however X requires waiting -
V929 WY NN 229 DIPNI YDY? 229 NAYTIT X122 Y09)T 5N

And there are those who are 913 in the Xn>312 of '119179', the name "2 'Y in the

' This is according to the first version of YXww that by a n1vx we distinguish between a n1vp who need not wait and
a 7717 who is required to wait which is the (new) opinion of >". Regarding a ?X72” n2, both >Xmw and »n" will
agree that both a 71vp and a 72173 are required to wait.

% There is an advantage in saying that Yxmw follows the view of one (»") Xin, rather than saying his view is split
between two (°"71 1n") DXIN.

*! See footnote # 12.

** Even a 772173 does not have to wait since she is 12ynn X n297n7 in order to distinguish between 121 9w ¥
BIfa n10p was 71m she need not wait if she wishes to marry, since Mt by a 73vp is m°5w &2, we do not make a 77°T
of 79173 UK MR by a oW KW 137

# A pvais not required to wait even a 177173, since she is n29:7nn (see footnote # 22).

* The advantage would be that X2 would work out completely according to *o1 " (see footnote # 20).
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place of 7737 ', and we explained it there. *°

Summary
" " " X" P
RN Ke)l a7 RN i ylalivg
2"¥N 2"y PUYR | TR AN 72173 NOa
oy HUER oy R R Tk 7P NI
o'y 5"y o'y 5"y 72173 ORW° N2
'y oy 'y 'y 7P "2
ToreR SR AT "

Thinking it over

moon writes that when the X723 establishes the case of n7vx by mhvaw MKI, we
can say that YXmw is according to 7T . Does this only answer the latter
question of moown (which was that X is neither following 777 " nor °"
regarding N713), or can it also resolve the previous question of mdoIn (that the

logic of %X is the opposite than the logic of 77 ')?*

26591 ' 7" 'oIM2 3,21 n2°. This would answer the initial question of mM»on (the contradiction between 7717 "I here
and 777 " in the ¥n»72 of 719177 [since we are now *01° "™ 0MA]). It would also resolve the contradiction between

XMW and 77 .

2T However, if 7oya1w 7% then 1nna> 0, like 7797 1 (see footnote # 28).

*% This may be only if 72v21w M1 (see footnote # 27).

** This does not say explicitly; it is merely a "waX' of moon. See footnote # 20.
0 This does not say explicitly; it is merely a '"waXY of moon. See footnote # 25.
31509 "1 is 7°n» not to wait even by a 79175,

32 See footnote # 11.

3 See X"wnmn (and ARYD:).
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